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10. [ Rl 502 71 7P 2 AL 12X Q.
@ 0.9ha=[ |m? @ 600m2 =] Ja
® 1.7t =] kg @ 80000kg = |t

® 60ha=[ |a



@D 24a = 240m?
@ 8km? = 80000 a

® 47m? =470a

@ 1300a = 1.3 ha

@ 1.6km? =1600a



12. o5 FollA dolo &9 ¥AE vt=A vehd 212 o=

® 25km? = 2500a @ 4.9a=490ha
@ 6800000 m?2 = 680 a @ 0.54ha = 5400 m?2

® 370a = 3.7m?



D 6900a, 69m?
® 850ha, 8.5a

® 4a, 40 m?

@ 5km?, 500000 m?

@ 780000m?, 78 ha



@ 300a = 3m?
@ 2030m? = 20.3a

® 770a="T7ha

@ 9km?2 = 90000 ha

@ 43ha = 4300 m?



15. g % Hl2d) dehd AL ol A7

@ 3.6ha = 360m?2 @ 46 a = 46000 m?
® 240a = 0.024 km? @ 300m? = 0.03a

® 8km? = 8000000 a
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D 13ha = 130a @ 1.8km? = 18000 a
@ 5.6km? = 5600 ha @ 92000a = 92ha

® 8.5km? = 850000 m?
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@ 24000m?2 = 2.4ha @ 150a =1.5ha
® 0.3km? = 3ha @ 24000a = 2.4 km?

® 3.6ha = 36000 m?



18. ] Afole] TAZ Hr A el AL o] AU

D 6400m? = 640a @ 8.4km? = 8400 ha
® 290a =29ha @ 24t = 2400kg

® 70000000g = 7t



19. w9 Afole] TAE Hr2 A Lepl AL o] AU

@ 350m? = 35a @ 5.6km? = 5600 m?
® 3700a = 3.7ha @ 17t = 1700kg

® 23000000g = 23t
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